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LÍMITES 

Problema 24: 

Hallar el siguiente límite: 

lim
௫→ஶ

(3𝑥 + 1)ଷ − (3𝑥 − 1)ଷ

3𝑥ଶ + 1
 

Solución problema 24: 

Comprobamos que es una indeterminación: 

lim
௫→ஶ

(3𝑥 + 1)ଷ − (3𝑥 − 1)ଷ

3𝑥ଶ + 1
=

(3∞ + 1)ଷ − (3∞ − 1)ଷ

3∞ଶ + 1
=

∞ − ∞

∞
 

A continuación, lo resolveremos:  

lim
௫→ஶ

(3𝑥 + 1)ଷ − (3𝑥 − 1)ଷ

3𝑥ଶ + 1
= lim

௫→ஶ

27𝑥ଷ + 27𝑥ଶ + 9𝑥 + 1 − (27𝑥ଷ − 27𝑥ଶ + 9𝑥 − 1)

3𝑥ଶ + 1
= 

= lim
௫→ஶ

27𝑥ଷ + 27𝑥ଶ + 9𝑥 + 1 − 27𝑥ଷ + 27𝑥ଶ − 9𝑥 + 1

3𝑥ଶ + 1
= lim

௫→ஶ

54𝑥ଶ + 2

3𝑥ଶ + 1
= lim

௫→ஶ

54𝑥ଶ

𝑥ଶ +
2

𝑥ଶ

3𝑥ଶ

𝑥ଶ +
1

𝑥ଶ

=
54 +

2
∞ଶ

3 +
1

∞ଶ

=
54 + 0

3 + 0
= 18  

 

 


